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/OAB + /OCB = /OBA + /OBC = x

. tAOC = 2x
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(OAD = £/ODA, /ODC = £0CD
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AFGE = ZDAFGE =1 X 3 X AABC= 12 x AABC

AABC = 12 X AFGE = 12 x 3 = 36( cm?)




CF

GE

AEDG

DH

AABC + AEFB + AGDE

@ DABED = oCFGH + AAHD +

O aABC

@nac

~_.__.o_.0

A

Z0

)

s

® oCFGH

BC - BF

BF, CF

GE

DH

@ AC




21.

AB = AC<l AABC|A BD = EC,
BE = FCo|t}. /DAF 9] @77} 54°
A, ,x9] 7|5 Fotofet

AB = ACQl o] 5RIAZAgo| B R
(ABC = /ACB =

N |

(180° —54°) =63°

/ABC = /ACB, BD = EC,
BE =FCo|2&

ABDE = ACEF (SAS &%)

o= J138 9] ADBE || A za+ b+
63°=180°0| &

la+ /b=117°

utetA] Z BEC+ BZo| B2

(DEF =180°-117° =63°

(180° — 63°) = 58.5°
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22. TS TP AABC oA A T aABC o Yaloleh. ,C = 70° A
Lx+ 1y ©) 271 Fatolet,
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@® 175° @ 185° @195° @ 205° ® 215°

/AB = /IAC = /a, /IBA = /IBC = /b 2} 51
AABC A 2za + 24b + 70° = 180°

oo la+ (b = 55°

ABCE A zx = £b +70°, AADC ©f| A

Ly = la+ T0°

SoLx+ Ly = (Lb+70°) + (La + 70°)

= /a+ /b + 140° = 55° + 140° = 195°
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